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Chapter 2 : Boundary value problems
in electrostatics parts )
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12J Boundary value problems in electrostatics
~ 12.1J Boundary value problems

V 121J Green's functions

\ 1273 Method of images

\ 12.41 Method of orthonormal functions

i I2 Generalities

• 12.4.23 Electrostatic problems with

rectangular symmetry
• 12.4.33 Green's functions

this
lecture 12.4.43 Spherical symmetries
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spherical harmonics
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Spherical harmonics form a complete set of
orthonormal functions .

One can prove
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Examples : compute § in a sphere of
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Cmbgmctio. : Fourier expansion

Determine Green's functions for problems in
electrostatics involving (spherical) change
distributions and boundary ambitions for §
in terms of an expansion of spherical harmonics
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: in spherical coordinates
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To determine A , B , D we

① Impose Dirichlet boundary conditions
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Next : Magnetostatics


